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average S, ,
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[Ans. Goodwill '\'3.(13*”0“-' re.
Q. 6 Following information 1s available about the hUHInf:;iH of a firm - .
) PImma In 2016, T40,000; In 2017, ?STL{,“?;Q(?]]?z(}*]'81:(}(}’”%‘ i
,. i 2o income of 1,000 1s included in the profits , (111) 1rnf'1113 of 201,
o hy 6,000 because goods were destroyed by fire, (iv) Good- s i

en reduced : »m in fi >. The 1nsurance nra.. -
rt::cn insured but it 1s thought to nsure them in future. urance Dremiyn

rimated at T400 per year, (V) Reasonable rem_uneratlon of the proprietor of ,}ih__'l_"
:s i;h 000 per year, but it has not been taken into account for calculation of
:ﬁenti::med profits, (vi) Profits of 2018 include 5,000 income on Investment,

Goodwill is agreed to be valued at two years’ purchase of the weighteq -
profits of the past three years. The appropriate weights to be used are :—

2016 — 1; 2017 —2; 2018 —3.
[Ans. Value of Goodwill 90,200.]

aﬁr;:- '

- Calculate the value of goodwill on the basis of three year's purchase of 1
| e profits of the last five years. Profits to be weighted 1, 2, 3, 4 ang:

year. Profits of the last five years were :

0.
weighted averag _
the greatest weightage to be given 1o last

Year ended (<)

31st March, 2015 : Profit 80,000
- 2016 : Profit 1,05,000 (after considering abnormal loss

of T41,500)

o 2017 : Loss 20,000  (after considering abnormal gain
of T40,000)

= 2018 : Profit 1,80,000

- 2019 : Profit  2,00,000

Books of Accounts of the firm revealed that -
(/) Closing Stock as on 31st March, 2015 was overvalued by %40,000. \

(if) Repairs to Machinery 260,000 were wrongly debited to Machinery Accos® |
on Ist July, 2017. Depreciation was charged on Machinery @ 20% p .

diminishing balance method.

[Ans. Value of Goodwill ¥3,60,000.)

Hint :

Weighted P | i
210,51.000. ghied Profit for the year ended 31st March 2018 25.16.000 and -
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¢ Method :

' g. A partnership firm earned net profits during the last four years as follows :
. Year 7
! 56,000
2 64,000

3 60,000

R 62,000
ital investment |
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Q. 13. On April Ist 2020, an existing firm had assets of ?5..00..?00 i”tludi e “ﬂn Dﬂﬂq
of 20.000. The firm had a General Reserve of 90,000, partner’s Capitay ang% 6
showed a balance of ¥3,80,000 and creditors amounted to <30,000. [f the Hﬂn:f“‘lnﬁ |
of return is 20% and the goodwill of the firm if-;‘v:-.ilucd at 64,000 at 4 year’s pual % | \Is’l“
of super profit, find the average profits of the firm. rqha&; lli
[Ans. T1.10,000] i}
Capitalisation Method : ne
(. 14. The average profits of a firm 1s Z48,000. The total assets of the g £3
28.00.000. Value of other liabilities is Z5,00,000. Average rate of return jy, th? an, he
business is 12%. Vi, ;:::

Calculate goodwill from capitalisation of average profits method.
[ Ans. X1,00,000. ]
Hint : Capital Employed = Assets — Liabilities.

(). 15. Anupma, Purnima and Ruchika are partners in a business. Balances in the
. . [,
Capital and Current Accounts as on 3 1st March, 2019 were :

Capital Account Current 4 CCoun

(<) (<) |

Anupma 6,00,000 60,000 (1.
Purnima | 5,00,000 30,000 (D
Ruchika 5,00,000 10,000 (C;

I'he firm earned an average profit of ¥2,40,000. If the normal rate of return is 129
find the value of goodwill by Capitalisation of Average Profit Method. |

[Ans. Value of Goodwill ¥4,80,000]

Q. 16. Calculate the value of goodwill according to capitalisation of Super Profi
Method in the previous Q. 14. P PET Frofits

[Ans. %1,00,000]

Q. 17. The following information relates to a partnership firm :
(a) Profits/Losses for the last six years :

Ist year $20,000 Profit 4th year 260,000 Profit
2nd year  %60,000 Profit Sth year ?501000 Profit

3rd year 10,000 l.oss 6th vear T72.000 Profit

(b) Average Capital Employed is 2,00.000.
(¢) Rate of normal profit is 15%

Find out the value of goodwill on the basis of -
(/) Four years’ purchase of average profits
(1f) Four years’ purchase of super profits
(#if) Capitalisation of super profits.

[Ans. (i) On the basis of average profits

(#7) On the basis of super profits X1.68.000
(#if) On the basis of capitalisation < 48,000
ﬁf Sl.lper praﬁts ’
< 80,000.]
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PRACTICAL QUESTIONS %
trictly in the serial order of illustratiop,
(Q. No. 1 to i‘; la ;?L?d h);s a deblt balance of ¥3,00,000 in Reg, "

e loneeof Satementof Pofi & Loss It & ed a profi of 25 g%z,
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| .IP

and Surplus’.|
|

3

4,00,000
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| STATEMENTS OF COMPANIES

eA liability will be treated as Cument 1f Pa)’mnt is mado thhm 12

6. Operating Cycg.- TV

oW w:" you classity the

Operating C)
Expected Pe
(Monﬂrs}
[Ans. (/) Current; G‘

(vi) Cument]

Q. 7. State the _
iabilities side of a company’s |

[Ans. (i) Shareholder’s F
(1i7) Non-Current Liabilities: (i

Q. 8. State the majc 0
NSy * s Balance Sheet are classified.

(/) Reserve and Surplus; ( ne
[Ans. Both will be clas

(). 10. Name the Su
ina Company’s Balance

[Ans. Current Liabi
(/) Short-term:
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_ FINANCIAL STATEMEN;
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e —

¥, (/) Unclaimed Dividend \\*\!
(ii) Proposed Dividend
(iii) Securities Premium Reserve
(iv) Share Forfeited Account
(v) Public Deposiis
(vi) Debentures

o

Ans.

...-'

Plus
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Wthh they occur. thﬂ Sam.e year in

Current Liabilitigs

Q. 14 (B)- Under what head
{3 Cﬂmpany
(7) Patenwmm

(iv) blorﬂmd
(v) Motor Vuhiel“
(vi) Government Wﬁ“
(vii) Uncalled L ability

Ans.

Q. 15. Under .:': L . _ o ‘._ + b
Sheet? ST

. COH’I
I1. B:lls vable
I1I. Interes sed and Due on Deben
[V. Interest Accrued on I vestments

Ans.

;.q.
e
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FINANCIAL S1ATEMENTS o
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9.66 i T e e \\%

(vi) Contracts remaining to be execu

Shareholder’s Funds under :

Li bll;?ll:;q Lf:])ch,r ‘Long term Provisions; (7ii) Non Current L iabilities undey ¢ v ern[
1a

term Provisions’: NE tg
. abilites under ‘Short s (¥ V) © ™
provisions’; (iv) Current L 12 (vi) Commitments (to be shown iy, NnnE“'ﬂ

‘Reserve & Surplus’; (ii) Non

[ iabilities under ‘Short term Provisions . e 5y
Accounts)] - i
the Balance Sheet of
Q. 17. How will you show the following items in Ol a CU Dam:
(/) Stores and Spares 1

{ﬁ) m&entms due for Redemption |

5 oo ‘lnventoneS” (ii) Curren Liabilities under ‘Othe,
N e m P ,mebp'mdmm-—"fanmble Assety
ngible Assets’; (v) (um,h

under ‘Other Curren
|

Assets’ (¥ Current Lia

Q. 18.-me the follomng list of assets and hablhtlm, W’e h Balance Sheg,

Co. Ltd. as per Schedule 111, Part I of the

of Seemab,-‘f‘
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Fi ed DepOSltS acce
Calls in arrears (On l;=
provident Fund :
premises

Machinery

Trade Receivables
Trade Payables
provision for Bad Debt

Bank Loan

Stock in Trade

Prepaid Expenses
Balance of Statement o
Stores |
Loose Tools

Cash at Bank

Provision for Taxation

—
i T —

1."-."l : '-':h-'\."..,;

Z100 each. .
[Ans. Balance Sheet Total ¥13,00,0(
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| . _F||§JA_N_CI§|_. STATEMENTS of C_UM_P o /;
968 Share Forfeiture 2.&; 1'}
Sha(rf;,:;ﬂp(;l;ll'lms of 100 each) IS-Og*m | o
Calls in Arrears (on E— 34.22:006 % ;
[Ans. Balance Sheet Total 234,05,000]

lus for the ve.
1 oo ard balance of €20,50,000 as SUTpTU® year

Q.21 S camgiﬂft:l the year 2017-18 it made a profit of 271,80 o

on 31st Mﬂfch' 2017' g tax Prﬂ?iSiﬂ'n for income tax 1s 1o be m

aking vision for income (4 the Directors :
ki 0. Following appropriations were proposed by

~ the
(a) Transfer tS.O'O:OOO to _ -
(b) Pay the year’s dividend on 25,00,000 10% cumulative Preferenc. .

capital. - |
(¢) Pay 20% dividend on 260,00,000 Equity share capital.

(4) Pay ¥1,00,000 dividend to non-cumulative Preference Shares.
(¢) Transfer 7,50,000 to Debenture Redemption Fund.

(/) Transfer 7.5% of Current year’s net profit to General Reserve.
(g) To provide for Corporate Dividend Tax at 20.358%.

Endr; d
bf‘.‘ﬂ'jr&
ddﬁ fﬂr

Ascertain the net amount of ‘Surplus’.
[ Ans. Current year Surplus Z41,80,000; Net Surplus %46,66,500.]

Contingent Liability : 3
Proposed Dividend on Cumulative Pref. Share Capital 10% on ¥5,00,000 = 50,000
Proposed Dividend on Equity Share Capital 20% on ¥60,00,000 12,00,000
Proposed Dividend on non-cumulative Pref. Share Capital 1,00,000

13,50,000
Add : Corporate Dividend Tax 20.358% on ¥13,50,000 2,74.83

| _ - Total 162483
Hint: (1) Transfer to General Reserve will be 7.5% of ¥41,80,000.

Q. 22. The following balances are left on the books of HMM Ltd. after its Profi

and Loss Statement had been prepared for the year ended 3 1st March, 2018 :
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~ you are required to draw up the companc:
 taking into account the following ma;
(a) Transfer T1,00,0 00

(b) Directors prof o

[Ans. Net Sm‘plug,f
#22,60,000]

vote : Contingent Liab

Q. 23. The followi g
March, 2018.

Securities Premium
Freehold Premises

Plant & Machinery
Furniture

Patents

Goodwill

Debtors

(40,OOO shares of ¥
15% Debentures
Interest Accrued and
Creditors |
Surplus (as on 1.4.2017
~ Provision for Doubtful
- Debenture Sinking]:‘

R

'I* pl
' 'ﬂf' - I
MUilS Iray
. _.r.._r' %
- % !'.l=|..." i

s ;'-'i.:_.rh:_.'i .E-H ""_h: 4

:‘: '-ﬁ." R R -|.--
oans : F
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FINANCIAL STATEMENTS ¢

L
| — Company as at 31st March, 2013 i MQ

Prepare the Balance Sheet of the
‘Notes to Accounts’.
[Ans. Net Surplus (after

£12.23,900.]
Note : Continge
Q. 24, 1IN !

equity shares -

shares were 18
profit T2,004
company for t

The direc
(_H) re

(b) pay t

appropnatlons) 713,90,000;

d Dlwdend 748,000,

Porpose
nt Lilahll for ‘70 - ' dlwded ki

ver

Balance Sheet
Note : Contingent

. 'I . : . ,_
JA4 "u ;::;I- .
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